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¥2 a4
e P The range of y = is, for xc(2, B
x2 = Bx+12
. 21| o y y | 21
() (o) @ |- == 3 (oe) ) I 2 )
Ans.  (2)
: 5
- | {x+1)°
Sol. e —— . waf1)
4 %E=8x412 (x—2){x—8)
ﬁ _ =2{x+1){Ex =18)
X (x-2)%(x-6)°
d = 21 4 =
Number line of 34:— = 1 ﬁ
5
[x+ 12
So Graphof v - x+1) for x=(2, 6}
[x=2{x=6)
1 1
x=2: ;:5:
| |
1 1
1 1
1 1
; 7186 21} i
| \ 574 ) i 16 ) i
i } %= is maxima point
) ] 5
1 1}
1 1}
1 1}
[ 1}
) |
16 21 21]
atx= — P y= — sorange = [ ==—|
5 = 0e = 7|
2. If the foci of hyperbola with eccentricity \.@ areat (14 »-'1_’_ .0} then the length of latusrectum is
m 2 22 3 22 4

Ans.  (2)
Sol.  S{1++2,0)8(1-42 0)
S5 =2ae=N2 ae=y2 =af2-J2 2a=1
2° .. 2a%(a® —1)
a a

LRi= = Zalg?-1) =2
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, —
164+ 20+ 2 -
3. I |————dx=———— thenthe value of ais
Jﬂ va+x —+x 15
1 @22 (3) 4 4) 4
Ans.  (2)
B = I." Fa e . J
ledx= 1 [xu‘a + X dx--J xSy
3 a3 [ |

Puta+x =t = dx=2tdt

Vza 32
L e 2 2a
= Ll_r apr?dt + =

-2

2 2B, 203

a5 3 |- 5

daza s 10a/a 1612042

— e e s

18 18

q, I & ks n™ term and sq s sum of n terms of an AP, sueh that a7 =16, 5= 0 and awas Is minimum then the

value of nl + a~in + 2} is

(1) 140 (2138 {3) 145 4) 141
Ans. ()
Sol. ai=6

—a+b6d=6

= a=6-6d

anas = ala + 3d)

= {6 - Ba)(6 — 6 + 3d)

= 1B{d —1)(d-2}

=18(d2-3d+2)

Let fid) = 18(d: — 3d + 2}
Fid) = 18(2d - 3)

atd= g L @a4 s minimum

So, a=6-—fd=-3
Sp=10

n,
=—[2a +(n—1)d] =0
212+ (- 1)d)
-_D[_sﬂ'n 2 )-o
2 2]

V=5

MNow,as=a+4d=3
Mownl+a:in+2)=56+3=7
=120+ 21 =147
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. ) { 4x il

LW The eoefficient of x= in the expansion of =i 5
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- . ) fax 5 7"
5. The coefficient of ¥ in the expansion of | — + —. | &
T
(1) 5140 (2] 5240 (3) 5040 (4] 4940
Ans.  (3)
BN AR
Sol  Tmi=%C[—s .| 22|
vt f 5/
2‘.9-:?' =
=9 s KEX
for coefficientof x% = 9=3r= =6=r=5
BC 2.1
coff, of x5 = _5?__
9.8.7.5
= 4B = 5
FERE Rl
= 5040
i 5
6. If ——L — — then the value of i# + n + 15 is.
g 21
(1)45 {2) 50 (3135 (41 57
Ans. (1)
[ {2naA)l |
o l\[n-?ll._ﬂ
: n 1)l 21
n—1]!

_ fenatjzn]  n

T in+2)nstin - 21
+422n+=1}=11[n+1) n+2
5 11nf=51n-20=0

2 (n=5(11n+4)=0

sn=5

snfen+15=45

-1

7. fz=————— . thenzisequalto
cosa/B+ignc/B
g1l in 7| Ay E Sn 5
1) V2| cos— = ) V2| cos— +lan—
( |\.dlm=12||s|r|12_ (2) 2 rns]Q I’il’|12'
(3 \-'E[cos% —|sn% | 14) 'GUS-T_; + i»"”%
\ 4 4 L i
Ans. (1)
Sol., Z-= # = uza‘ DB
cosm/ 6+ isin =ik

=2 [nos'—r Fiahis)

12 12
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8. Sumofseres 12-2.32 4+ 352 -4.72+ .. +15.292is
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8, Sum of series 12 - 232+ 3582 472+ .+ 1520%0s
Ans.  (6952)
Sol. 12234355472+ +15,26° = |1 5852

15

e =1 -3 arle-1F

T (2] (A P 2t 1F
T4 3 2r6e= (4r e 1f

7

-
1 +48>__‘_r '*BZ“E1

Bx— 7
2

T+56« 120+56«44+7

FRrT Y sz;‘lsl T8

8+ 56 « 124 = 6044 + B = BOE2

a, It area of curve [2x - 1| < y < (22— x| is A then valus of (BA + 11)2is
Ans. 125
Sol. yz|2x-1] y= %= x

Both curve are symmetric about x= —; Hence

1
2,
A=z [lx—x?|-(1-2x)kix
R
g
_I "
2 i 3 n "oy
t .2 | 3 2
a2 [baaatac=gf 22 y|"
JL | i S a5
J-45 » i

2

on solving 6A+ =55
{BA + 11 1= 125 Ans.
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10, The equation & + 3g¥ + 1230 - 80" + 1 =0 has.
1) Twao real raot both are posith
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10. The equation e* + 3ed 4 135 _ 8pv 4 { = 0 has

(1) Twao real rant both are positive (2) No real roots
(3} Four real roots of which two are negative {4} Two real roots both are negative
Ans.  (4)

Sol. Leter=t
fity=1"+ 30 + 13— 81+ 1
Pl =48+ 0 + 2681 -8
224+ 18t+ 26 =0 % t
=0 has at most one real root

- T{0} < 0and|"|—; [s0
1
then raal root of £t} = 0 hes between 0 and =

f
#f

1
3|7 0and flo)-0

+fit) = 0 has at most two real roots
Let i, [i be real roots of i) =0
for roots ol given equation = e* =, i
=x=/inu, M <0
given equation has two negative real roots

", It a, b e Tand relation Ry is defined as & — b7 = [ and relation Az s deflned as 2+ —: >0 than
(1) Ry is symmetric but Rz is not {2) Rz is symmetric but R is not
(3) Ry and Rz are both symmetric {4) Ry and R: are both wransitive

Ans. (1)

Sol. aR b= a’-b®clalways trus Hence equivalence
aR:b—= 2+ E =0 not symmetric whena=2 b=1

Whena=-8 b=6,c=3
Clearly (-8,6] e Bz . (6, 3) ¢ Rz but (-8, 3) £ Re
Hence not transitive,

12, Let A be an event that the absolute difterence of two real number lying between 0 and B0 is less than a.

1
If the probability of happening of event A is % then a is egual to

Ans. 10
Sol. |x=y|l<a=-a<x—-y<a
= x=y«@andx-y>-a
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PlA arDACDEG]

|DBDF)
ar(OBOF) - ar[ABG)_ anEFG)
B ar{OBDF)

4y (60F diso-ap-teo-af
e e e

36 3600

1100 = 3600 - (B0 - a)®
N {60 — a} = 2500 — B0 —a = 50
=3 a=10

13, If B-_;+2}—3'.i  b=i ilik Bm |+ 2 2k and r is a veclor such that r<b=bxc & r.a=0

then the value of 25, | T [
Ans. 20275

Sol. r:b=-bic=-G+b

- = Y - —
ra=f.ib.a| c.a=0
\ /

3 E __] l
b.a s
el [
r=ob r,=ﬁ|l J+3k)- i+ 2]+ 2k)
G 2= AT
P=—al——f=—
10 16" 1

107 =—8i —21j-17k
100 | v B=B11

LI
25 |1 = s =202.78
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